Jodododououop-3gipDFOOOUOOOOOOO
OJo0oooooo
https://www.100test.com/kao_ti2020/165/2021 2022 E5 B8 B8 _
E8 A7 81 E6 95 BO E5 ¢89 165049.htm I OO0 OO
OO0 010 000 D0O2002-05-0612:35:330 00 DO 0O OO
Jododobooodoodooooooouoooooa
Jo0odooooooodoooouoooooooooa
Jo0odoodooodooooooooooooooo
Jododobodoooooooooooooooooooo
J0o0doo0oooodoooooooooooooa
JO00od0oooooodooooooooooo ooon
OO0 0000 100205830352010100 00000000
Jododoboboooodobooouoooooooooa
JO000o0boooo0odoooobDdn L3554 1210
Jododododou oo oooooooos4d o
Jdododoglocoo0ooouossp3ouuoooun
Jododoosodododondon20302010=800 00
DOo0o0doosxModod3sg22000o00 0oo0oao
0 DS O OO 02400 O SCIENCEDQ O 14000 OO MATHO 1700
[0 LEARN MATHBUT NOT SCIENCEL OO O O 10 THERE
ARE 55 STUDENTS WHO LEARN SCIENCE BUT NOT MATH
2130 DIDN* TSELECTANYSUBJECTU OO UOODOOO
D0 10000 ooooodoA0DBOODADOODOOO
JodoBO0dO00odooooooooobooooooOod
Jo0odooooooodoooouoooooooooa
Jo0odoboooooodoooooooooooooa



OJO0oOooo20000 P(AB)=P(A)P(B)-P(AB)LO I OOMN
OJ000o000d0=00000000-0000 000oADOB
1 AL BO 0O A B normal distribution] One standard deviation
away from the meanl(] possibility[] 68%0] Two standard deviation
away from the meanl(] possibility[] 95%U0] standard deviation = 100]
OO0cougarl DO OO0 OOOOO6G000OOOON 70080
Jodoooo?200uouououonodn possibility =>
(mean - deviation) 60-1060-10*20 0 0 00000 OO0 O O
J0odoboooooodoooooooooooooa
10TestD OO0 O0UOOUOOUOOUOODUOODUOOOOOO
www.100test.com



